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Solve the following word problems.

At a Christmas party, there are 18 adults, 5 girls and 4 boys. How many
people are at the party in all?

There are 15 trees at the Christmas tree lot when it opens. By the end of
the day, there are only 8 trees left. How many trees have been sold?

Brian sings Christmas carols around his neighborhood for 45 minutes.
His friend Robert sings for an hour. Which boy takes longer to sing
Christmas carols?

Linda has 12 candy canes. She gives half of them to her brother Eric.
How many candy canes does Linda have left?

There are 20 students in a Christmas choir. The choir teacher lets 12 of
the students hold candles, and the rest of the students ring bells. How
many students ring bells?
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